flx) = (x™0)/(1)

[ h(x) = (x~2)/(3)]

+2.0

[ix) = —(x~3)/(4)]

L glx) = —(x~1)(2)]

-1.0




[ h(x) = (x*0)1)— (x> 1)/(2)+(x~2)/(3) ]

flx) = (x~0)/(1)

| glx) =(x~0IL—(x~1}(2)

[ifx) = (x™0W(1)=(x~1H12)+(x~2)/(3)—(x"~3)/(4)
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[j(x) = e~(—(4+1)x)}

[ hix) =e~(—(2+1)x}

fix) = +e~(—(D+1)x)

+2.0
| glx) = —e~ (~(1+1)x)

[i(x) =——e~(=(3+1)x))




[ jlx) = e~ (—(0+1}x)—e~(—(1+1)x)+e~(—(2+1)x)—e(—(3+1ix)+e"(—(4+ 1}Ix]I]

[ h(x) = e~ (—(0+1)x)—e~(—(1+1)x)+e~(—(2+1)x)|

flx) = +e f—t[}+1]_'x]
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[ i(x) =e™~{—(0+1)x)—e~(—(1+1)x)+e™(—(2+1)x)—e™(—(3+ 1}):}]
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| glx) = e~ (—[0+1)x)—e~(~(1+1)x)




